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Puzzle 1 (Medium, difficulty rating 0.48)

|
Ot MN[0 — O~ %591672384 )136542_{98 )214738956
S 5 3
= o ,
o|o|ajo|t|—|w|m[—]  Slm|o|<|—|w|o|o|cnf=]  Slo|w|cq|o|—|ols|—[o]  -S|lo|o|w|c|—|<t|o|m|—
2 o ©
[se] koud RS [l (@] KaN] (5] Fo] I 0] W475823196 .W.684_{93152- .W,8419n/_5763
e = S
(o2] [(o] § ol [e o) 9] I T0] huud RS KoV | Slo|—|m|wo|wo]|<tjoo|r—|c] m729415688 uﬁmv876481529
IS © o
o ) 7
Qo © ©
o~ ™ <
A [o2] Rand [T0] [aN] Kep] [l [e 0] K{o] oN|MD ||| OO | OO | OJO(O| M ||~ o] || OO |O[M N~
X X X




